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L(1-cos60°) = 0.5732 x (1 — 0.50) = 0.2866
¢) ) I R N BN ()
5 0.00218 [0.73 [0.69 |0.71 [0.72 [0.75 | 0.72
10| 0.00871 |1.37 [1.41 [1.40 |1.47 [1.47 | 1.43
15|  0.0195 |2.13 [2.23 |2.15 |2.15 [2.17 | 2.16
20| 0.0346 |2.84 |2.62 [2.89 |2.90 [2.01 | 2.88
50° 55° 25| 0.0537 |3.64 |3.62 [3.60 |3.63 [3.63 | 3.63
60° 30| 0.0768 |4.25 {4.23 [4.07 |4.25 |4.26 | 4.24
35|  0.104 |5.05 {5.02 [5.04 |5.08 |5.06 | 5.05
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VAR

mgL (1 - cos) = %mv2

vV =.,/2gL(1-cosf) =

:| _ |x100

1 9.797

2 | 0.5732

3

4

51 06¢) cosB H(m) v(m/s) | v(km/h) | (km/h) (%)

6 5/ 0.9962 | 0.00218 | 0.0427 | 0.207 | 0.744 | 0.720 3.26
7 10/ 0.9848 | 0.00871 | 0.171 | 0.413 1.49 | 1.43 4.06
8 15| 0.9659 0.0195 | 0.383 | 0.619 2.23 | 2.16 3.16
9 20| 0.9397 0.0346 | 0.677 | 0.823 2.96 | 2.88 2.91
10 25| 0.9063 0.0537 1.05 | 1.03 3.69 | 3.63 1.70
11 30| 0.8660 0.0768 1.50 | 1.23 4.42 | 4.24 3.91
12 35/ 0.8192 0.104 2.03 | 1.43 5.13 | 5.05 1.57
13 40, 0.7660 0.134 2.63 | 1.62 5.84 | 5.70 2.27
14 45| 0.7071 0.168 3.29 | 1.81 6.53 | 6.41 1.78
15 50/ 0.6428 0.205 4.01 | 2.00 7.21

16 55| 0.5736 0.244 4.79 | 2.19 7.88

17 60| 0.5000 0.287 5.62 | 2.37 8.53 | 8.36 2.00

=COS(PI()*A17/180) =$A$2*(1-B17)
=2*$A$1*C17
=D17~(1/2) =E17*3600/1000

=ABS(F17-G17)*100/F17
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